SIREvs AWF Tau Ta qfator aRwg, A (FREUS)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)
qyA grafds gdiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)
AHE- o=

gfagel oo 9T de-03
Model Question Paper SET-03

H8T-12 Ry FaaRe g HAYG- 1 °er 30 quTTeR-40
RAee

AT A&

>

>

A)
B)
Q)

aoft weeT rfaart & 1

It is mandatory to answer all the questions.

wesll Y FT HEAT 40 ¥ |

The total number of questions is 40.

UAF wed & v 1 3% fuifa & 1

Each question carries 1 mark.

TAF N & AT IR {wew R v &1 5o ¥ v @d Reew &1 99 AfFw |
Each question is provided with 4 options. Choose the correct option.

TAad 3 & AT FE 3w AL FIE ATGIA |

There will be no negative marking for any wrong answer.

YelotT hell ¢-

Management is an art of-

T FTH et T (doing work himself)

a;afr@a:maﬁr@r (taking work from others)

WWWWW@W@?@T ( for doing work himself and taking work from others)

D) saﬁﬁaﬁé’a%’r (None of these)

2. oI BTl & Teh-

Henri Fayol was a-

A)
B)
)

HHATS 3T (Social Scientist)

GoloT Sall{a1aR (Mining Engineer)
JIEIHR (Accountant)

D) 3cUles] SollfelaR (Production Engineer)

3. fe & & Fl-a1 CoR &1 YeletT T fAcHTed sTgl 87

Which of the following is not a principle of management given by Taylor?




INRCEIG Hﬁ?ﬁdcl\d I (Science, not rule of the Thumb)
B) FIATcHS PRAATRT (Functional foremanship)

C) 3MTERT &I TahdT (Unity of command)

D) Wﬂﬁ?ﬁffﬂ(mrmony not discord)

4. Tordll T &l e o [T Tt 1 ‘Ueh HAASS ARY Goell ARV | deATToteh Felotl hY hieT-H Aehoiieh bl 56
qrerg H 9N a fhar arar g?
Management should find ‘one best way’ to perform. Which technique of scientific

management is defined in this sentence ?

A) HHI I (Time study)

B) JTTT &I (Motion study)

C) YUahld YT (Fatigue study)
D) Yeufd LA (Method study)

5. TR T #7clf 3 T CIGEY
There are main sources of recruitment of workers.
A) 3
B) 2
C) 4
D) 5

Trainingisa...... process.

A) dre] (Current)
B) FUTcHS ( negative)
C) ¥dd (Continuous)

D) ﬁﬁﬁﬁé’ﬂﬁ (None of these)

7. Tl ey &l Teh 1 & BETehY QAR 1 TR SHITTeT §-
Shifting of an employee from one job to another is called-
A) TUTATAROT (Transfer)
B) <ITT (Resignation)
C) &Il (Both)
D) %ﬁﬁaﬂéﬂﬁ(None of these)



8. ST X EU 3ol FohaT A 37eITeTeh St HIHITSTeh Fersloel-Te gellell &-
A network of social relationship that arise spontaneous due to interaction at work is called-

A) WW(Formalorganisation)
B) 3T T (Informal organisation)
Q) W(Decentralisation)

D) 31edlUT (Delegation)

9. Shog 0T I dTcaY gl &-
Centralisation refers to-

A) Wﬁﬁﬁaﬁﬂaﬁg@am (Retention of decision making authority)
B) Aot et & 31TAHRY T foaERTa T (Dispersal of decision making authority)
C) YHTAIN I o1 hog, SIToTT (Creating divisions as profit centers)

D) T chogl 3TQT QW3 ST WielaT (opening new centres or branches)

10. YSI=] hT HTATTSTeh STRETcd &l Fehfcl 7 ST gl 8-
The nature of social responsibility of management applies):

A)  ShdT T HTTYTT &l [T (buyer beware)
B) faghdr hr Aratr=iT 1 T (seller beware)
C) s H A HIS Y FET (none of the two)
D) A3 BEHT (both A and B)

11. SR AT .. I arafAs Far gl

Assignment of authority is the primary art of

A) ﬁﬁ'?lﬂ( Direction )
B) faIAISTaT ( Planning)
C) TS ( Organisation )
D) "HHCII ( Coordination)

12. $TR ohY ATl 2l efiedY 3Ty ohT JH@ HRT ... I IAT |
The main cause of slow progress of India is the lack of.......
A) ?QWWU (efficient management)
B) #TAT AfFd (man power)

C) T (resources)
D) sﬂﬁﬁaﬂéﬂﬁ(None of these)



13. fAgfFcehior o) ooy foma aram e 8-

Money spent on staffing is-

A) 3TdIUh (Necessary)

B) 3eATdRTh (Unnecessary)
C) 3YcId (Wastage)

D) AT (Investment)

14, 9Tregor T Taferam g-
Methods of training are-

A) TFH (Conference)
B) gfreqomeft yfretor (Apprenticeship)
C) T<TITEYT (Lectures)

D) T THT (All of these)

15. GH-aT TG fmar Srar &-

Coordination is established -

A) mmﬂ‘zrqa’uaym(by top level management)

B) mmﬁﬁﬂm*aﬁm(by middle level management)
Q) ﬁmwﬂuq—q‘aaﬁm (by lower level management )

D) sﬂﬁﬁma?aﬁmﬂﬁ(none of these)

16. faéereT & 3deTd o= & & i O T afFafaa A8 &2

Which of the following activities is not included in direction?

A) TIJETUT ( supervision)
B) &idcd ( leadership)

C) HYYOT (communication)
D) fAASIT ( planning)

17. 94T T 9 el -
The nature of management is-

A)  SeHSTT T & T H (as an inborn ability)
B) g ufaar s s T & (as an acquired ability)
C) STedTd Ufas a2 31T Ufa#T sl & &I & (as inborn ability and as an acquired ability both)



18.

19.

D) s?lﬁﬁ?ﬂé'ﬂﬁ (None of these)

U&otT Sl AT AT T HaTTeeh YROT & aTelT 1 &-
Maximum incentive giving function of management of employees is:

A) FCIThaT (staffing)
B) 37THYRUT (motivation)
C) TS (organisation)

D) sﬂﬁ'?}laﬁé’o‘-@' (None of these)

o=t 7 O lT-AT H YT I TGS o RigHTed’ T Ga9Ss quid T g?
Which of the following statement best describes the principle of ‘Division of Work’?

A) mﬁaﬁ-@%mﬁﬁaﬁmmiac (Work should be divided into small tasks)
B) ¥ I [A¥ITSTel el TTTE U (Labour should be divided)
Q) TETEAT Y h1AT & [FHTTT AT ATfRT (Resources should be divided among jobs)

D) Ig T (all of these)

20. ATeTeh Jaet 3 SolX GaRT fehaT I FteT -

The experiments done by Taylor under scientific management were

A) 1T 37ETTT (Motion study)
B) YUahlod ITEITA AT HHY I (Fatigue study and time study)
C) T 3CTT, YT TETIA AT HHY ITETIA (Motion study, fatigue study and time study)

D) saﬁﬁaﬁé’aé’r (None of these)

21, U A& PRI

isa mental work.

A) 3c4iceT (Production)
B) 9Ydel (Management)
C) TI9UT (Marketing)

D) sﬂﬁ@'aﬁéﬂﬁ (None of these)

22. AR Fifed I HATUR |

Mental revolution is the essence of

A) IS T (Scientific Management)



B) TSIl (Combination)
Q) ICEEIERU (Rationalisation)
D) Y2l (Profession)

23. T & O T I1 GoraeT UThHaT Al UgelT TRUT &7

Which of the following is the first step of organising process?

A) TIHTIfeRTOT (departmentalization)

B) el bl 3Tdcs] (allotment of duties)

C) Y T YT U fAHTS (identification and division of work)
D) {-I(\tlo-llk; UTT et o T TATUT T (Establishing reporting relationship)

24. Teh 31T ATl gl &-
A good plan is-
A) Eﬁﬁ?ﬁ'(expensive)
B) THY ofel dTall (time consuming)
C) orquT (flexible)
D) HHIOT (rigid)

25. §oTC T A -
Budget refers to-

A) Tasares &1 TS I8 (Planned target of performance)

B) H1TAsT & FRIGEITT ST TANIT (Use of handling future activities)

C) HATYAT ST Hel [dcd’0T (Systematic action and allocation of resources)

D) 3TeAfead <t & et 7 faaror (Statement of expected costs expressed in numerical terms)

26. PFAfAf@a & T HiA-I1 AASTT &1 vk WAT 82

Which of the following is a limitation of planning?

NGRS GEIGIGRE qWWWWWMﬁHT% (Planning is generally biased and time
consuming)

B) mﬁ&ﬁﬁwm% (Planning is goal oriented)
C) forarster sfasa Fr 3fATTTAAT3I T ATHAT et & JIT FTdT 6 (Planning enables us to face future

uncertainties)

D) %ﬁmqﬁxﬁwalﬁraﬁm% (planning improves competitive strength)



27. foT 7 O IeT-HT 1 FelotT T 1 781 § ?
Which of the following is not a function of management ?
A) fAGFIRIOT (staffing)
B) SISt (Planning)
Q) IGEGEL (Controlling)
D) H&JMT (Co-operation)

28. HHAY (Coordination is)-

A) Y& HT H § (Function of management)
B) Yded HARE (The essence of management)
C) Ydedd WBE?QU%’ (An objective of management)

D) s?ﬂel'@lalflé' T STET (None of these)

29. ToR Ud Hhalel o HFTYT H To¥oT H T il AT HUT 3T 72
Which of the following statement is false about Taylor and Fayol?

A) WWWW mmﬁ:ﬁwﬂﬁws@ﬁw (Fayol was a mining engineer whereas
Taylor was a mechanical engineer)

B) el & FcuTed fafIse IRTEATIAT 7 oE] gl & STelfeh o & AT Aasiiife gld 8 (Fayol's
principle are applicable in specialised situation whereas Taylor's principles have universal application)

C) e o e Y TeAT AP 337 o GANT g5 AT ol oh FAeTerct B TeI=AT TRYETOT ZaT g5

(Fayol's principles were formed through personal experience whereas Taylor's principles were formed

through experimentations)
D) HaTel & FAgHTed Jaetr & TR TR AFLEI ¢ Sfalfeh Sol & [AGHTed HREM H 3cdTee 1 IR AR Bl &

(Fayol's principles are applicable at the top level of management whereas Taylor's principles are applicable

at the shop floor)

30. "9eT IR §T @ Gog H HANSA HTSAT T TUT IoTeh TTY TATS ol X HTH el Td il bl holl §1" TeTET
T g IRHATST fohareh SaRT &1 778 &7

"Management is the art of getting things done through and with the people in formally organised groups." Who has
given this definition of management?

A) U 3R 3'SIeTel (Koontz and O'Donnell)
B) e Utho F (Peter F. Drucker)

Q) WW(StanleyVance)

D) &I %Il (Henry Fayol)

31. Tl 1o Y TgeTTH AT T G el gl & |



Completing a task at minimum cost is called

A) EI'WH;U‘IHT ( effectiveness)
B) i’T‘\’ITleT ( efficiency)
C) 9fehaT ( process)

D) JTSTT ( plan)
32. TATelh FHST &Y o 39 3T 2|
Board of directors comes under management.

A) 3T T (Top level )
B) HEI T (Middle level)
C) =T T (Lower level)
D) Ig T (All of these)

33. A fofaa & & i GoraT FT T 8T 82
Which of the following is not an importance of organising?

A) Wmmﬁ@(increase in managerial efficiency)
B) AT YAl T 37Thdd 39T (optimum use of human efforts)
C) FH-IY I iALTeTeleh FaAT=TT (Facilitating coordination)
D) Wﬁq&’ﬁ (increase in corruption)
34. 5 # § it TS 3UATT JN1STAT 7 TR AdT 62

Which of the following is not a type of standing use plan?
A) 3?\?%21 (Objectives)

B) =AIfaaT (Policies)

Q) FrRIGH (Programmes)

D) f&& (Rules)

35. TSt UfehaT &7 Ul heH hiT ATR?

Which is the first step of the planning process ?

A) WWWWW (evaluating alternative courses of action)

B) ﬁ%ﬁﬁ%ﬂ‘fﬁ?—fm (determination of objectives)

Q) P FeT b IASS LT BT T AT (selecting the best courses of action)
D) 37efdcie (follow up)

36. A f@a & O i I YRS ST Agca A8 872



A) "HHIY ohl AT (means of coordination)

B) TS HR H ST (reduction in executive burden)

C) 3TefiTEAT o AT & FHAT (decrease in morale of subordinates)
D) 3refaEd 1 fQera (development of subordinates)

37. U, Sscg, CoR GaNT I GEceh "diTieleh  Teier & fAGHic" ol Yehrelel Hel Hg3man

The book "Principles of Scientific Management" written by F. W. Taylor was published in the year .

A) 1903
B) 1911
C) 1856
D) 1914

38. Al @a & O Fla-ar wdt 1 v sET Fa8?

Which of the following is an external source of recruitment?

A) TUTATAROT (transfer)
B) UglesIfcy (promotion)

C) SR CopIrep! (employment exchange)

D) Wa@’ﬁ (service extension)

39. Rrafaf@a & @ sia-ar ufieTor 1 Agca A8 &2

Which of the following is not an importance of training?

A) mﬁq@ (Increase in production)

B) TETEIAT ol Hel 39T (Proper utilisation of resources)
Q) géwﬁﬁqaﬁ(lncrease in accidents)

D) & AT H T (Decrease in labour problems)

40. AFATATET # & FleT AT HA TET &7

Which of the following order is correct?

A) 1ail -> Tt ->HTAETUT ( recruitment -> selection -> training)
B) dIA ->37dr -> §I’f§f&TUT( selection ->recruitment -> training)
Q) o7t -> wfRretor -> T ( recruitment -> training -> selection)
D) WTAETOT ->TIA -> E ] ( training -> selection -> recruitment)



